2 510

IR VA0 °2°0P797 RIT AR 2°R2T 20N TR 297 10X L1
AW MIPPWa MPRaK DR IRYD NI2°PW O°2 721770 OR 020110

a,beN,a<b} X
R, ={(a,b)a,be N,a<b} .
Ry ={(a,b)a,be N,a=b} =
ONT Yap (2»wnnn) R _Hvna 007700 QOR2T 2°0000 TR 9 Ay 2

:M?°PW O R
[x-y|]<le xRy .

Rl — {(aa b)

X—-y<l< xSy .2
X—y<-l<xTy .2

A DY R O A ALA,.. A TPW MIXIAP-NN A0IRY. A 7¥12p7 7301 .3
R={(xy):yeA DN xe A 1AV i aMp} M"Y
270957 W 1101
22°0P997 R COA =A X

i=1

JA=A<= 0PI R 2

i=1

DP0P7DT R = ANA =@ 1 D7pPM 1<i<j<n 227 A
. ANA =@ D7PNN 1<i<j<n 229 <« VMR T

RcAxB, VcAxB, ScBxC, WcBxC, TcCxB v 4
Ry hh
(RcV)A(ScW)=SocRcWoV X
(SUW)oR=(SoR)UMW oR) .3
TIVVAY NOTA RANT 'Y IO A
T39I PR (S AW)oR=(SoR) AW oR)



207 N1 K
R={(1,2),(3,4),(2,2)}, S={(42),(2,5),3,D,(1,3)}
RoS,50R,(ReS™)oR,(S"oR™)S 20N

om° X177 A 1X12p B R 0r° ORI 2172 °R27 0°9°V0 CIwa .2
MPWT MPYIN DR RXA ,10 OR .M2pY

(o>vavn omoonn N) A=N XRy < 3[(x+2y) i
.A=P(B)-1,n>2 o’k nnowvanxnap B i
XRy & (xey)v(yex)

N LB X12P DV MPPW O F N, A IXI2P DY MYPY O E 7 .6

'G:{((alabl):(azabz))‘(alaaz)eEa(blabz)EF}
CAxB DV M?PW O’ RIT G 02 11O

Y731 RANT 1NN 1917 .A 5 M>pw o R-1 S viv.nxiap A L7
NN NMIYLD
M?pYw o RUS R
MPpw o (AxA)\R .2
Mpw o (Ax A)\RUIT, .
M?pw o R\S .7
MPPY on® RoR .7
MPPw o ReS )
(1, ={(1,1),(2,2),(3,3)} TR A={1,2,3} OR RANT? , M0 N7 1,)

:(DORIT RDY D MOWH 0°D0A N¥IAP) Z\ {0} PY XA on R o .8
.b nX PHnn a ok P ok aRb
opona neap) N 5y opon 7o xa aRb ommw o X
(0*yavn
A2 ke N} Py R9n 70 XIF R omonw mow .2

.as<caAb>d axpmox (a,b)R(c,d) :NxN By xamoma R .9
ROMPRY PO IO R w o R



